Barn Painting

Read the question.  (Answer True / False)
1)  The walls and roof are to be painted.         T / F
2)  The floor is being painted.         T / F
3)  The barn will be painted once.         T / F
Understand the question.  (Answer True / False)

4)  There are 6 rectangles to paint.         T / F
5)  There are 2 triangles to paint.         T / F
6)  The rule for a triangle area is πr2         T / F
7)  Find the total area by adding the parts together.         T / F
Solving the problem

8)  The wall dimensions are…


9)  Find the area of the 4 wall rectangles
  Side wall _______________   Front/back ___________________

               =________________m2         =___________________m2
                           TOTAL of walls    = _____________________m2
10)  Find the area of the 2 roof triangles

_____________________________ = ____________________m2 

                        TOTAL of triangles  =  ____________________m2
11)  Find the area of the 2 roof rectangles

______________________________=____________________m2 

                TOTAL of roof rectangles    = ___________________m2
12)  Find the total area to paint

                   TOTAL of walls    = _________________________m2
              TOTAL of triangles    = _________________________m2
    TOTAL of roof rectangles    = _________________________m2
                           TOTAL area = _________________________ m2

13)  How much paint is needed?

              18m2 of area needs 1 litre of paint.

              1m2 of area needs ___________ (less) litres of paint.

___________m2 of area needs ___________ (more) litres of paint.

14)           1 Litre of paint costs $13-75

__________Litres will cost $13-75 x ________________

                                        TOTAL = $__________________

15)  10% of the total cost $_________________ is ____________

         5% of the total cost $_________________ is ____________

        15% of the total cost $_________________ is ____________

Total cost    -     Discount       =     FINAL COST for 1 coat of paint
$_________ - $____________ = $______________

16)  Final cost for 2 coats of paint.

_______________________________ = $__________________
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A painter is to paint the outside walls and roof of the barn shown.





The paint costs $13.75 a litre and each litre covers 18m2





The shop gives a 15% discount on the paint cost.





How many litres of paint will be needed to give the barn two coats of paint, and what will it cost?








